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SECTION-A 120 Marks)

ST AnswerALLquestrons R RN S
ALL questlons carry EQUAL marks (10 X: 2 20)

- 1 Frnd the average of all the numbers between 6 and 34 whlch are d1v131ble by 5
o . _2 If a number when d1v1ded by 4,1is reduced by 21 ﬁnd the number? v'; g "_ | : -
L 3 Fmd the value of (256)4 AR
e 4,4 Evaluate 28% of450 ¥ 45% of280

5 If (x y) .2 ,1 then ﬁnd(x yz) (x2+y2)

B v.,»_'6 At what rate percent per annum wrll a sum of mcney double n. 16 years? -
R : 7 Deﬁne Transpose of a matrlx lee one exarnple | | - .»

Sy

R ; 9 Deﬁne slack vanable - :
_ | 1 O Deﬁne feasrble solutlon o

SECTION—B (25 Marks ) |
~ Answer All questlons S

ALL questrons carry EQUAL marks | (5 x 5 25)

I 11 a) A puprl's marks were. wrongly entered as 83 instead of 63. Due to that the- average ;
ol marks for the class got 1ncreased by half F rnd the. number of puprls in the class‘7 :

b) If three numbers are added in palrs the sums equal 10 19 and 21 Fmd the
numbers‘> ‘ _ : L

B ‘~12 a) Whrch is larger\/— or «/— ?-
b) 6 A book was sold for Rs 27 50 w1th a proﬁt of 10% If 1t were sold for Rs
. 25, 7 5 then what would have been the percentage of proﬁt or loss‘7

< 13 a) The ratlo of thrrd proportlcnal to 12 and 30. F 1nd the mean proportlonal between 9
and25‘7 PR o el eni s e

b) The average welght of A B and C is 45 kg If the average werght of A and B be
40 kg and that of B and C be 43 kg Flnd the werght of B‘7 e S
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15 'a);f‘ Solve graphxcally Max Z 7x, + sz

, ‘_;Subject to the constramts X +2xz <6 T
R 4x,+3x2 <12 and xl,x2>0

(OR)

b) Solve graphlcally Mm Z 3x1 +5x2 L BT eied

Subject to the constramts xl + xz > 200

< 8() )
x2 >6o and XI,X2>()

| kiAnswer any THREE Questlons . ::
ALL Questlons carry EQUAL Marks (3 x10= 30)

s - 16 1) The average age of 35 students m a class is 16 years The average age of 21
. ostudents is 14: What is the average age of remaining 14 students" ‘ )

-as old as hlS son What are thelr present ages" i

‘14 a):: Use deterrmnants and solve 2x+3y-— 12 x+5y 13 by Cramer s rule L ol

11) Rohit was 4 times as old as his son 8 years ago. After 8 years, Rohlt wrll be twrce‘ | f

‘ f’ 17 1) Ramans salary was decreased by 50% and subsequently mcreased by SO% How 2 - i

- much percent does he lose? |
3 ' 11) An artlclens sold at a certam pnce By sellmg 1t at of that prlce one loses 10%
| Fmd the galn percent at orlgmal prlce? _ : o R :

o 18 1) The ratro of the mcomes of A and B is 5 4 and the ratro of therr expendltures is 3 2_. L f"' " :

AIf at the end of the year each saves Rs 1600 Fmd the i mcome of A‘?

S

11) A sum-was put at s1mple mterest ata certam rate for 3 years Had 1t been put at 2%7 e

hlgher rate, it would have fetched Rs 360 more F md the sum‘? e

‘("

3 19 Solve t_he fonowmg equatlonS by matrlx method

i »;_20 Use Slmplex Method to solve , . _'
FA Max Z= le, +x2 +2x3 L
Subject to the constramts X ¥ Xg - 2x3 < 10
T 4x1+ Xy X3 < 20
o ._ and xl,xz ,X3>0

2x-y+3z= 15 xtytz e =25 %ty +z "\4' Pl T e



